
 
 
 
 
 

 
Test Your CSA Knowledge 
 
1. The CSA enforcement model changes how a driver and carrier comply with the Federal Motor 

Carrier Safety Regulations (FMCSRs): 
a. True 
b. False  

 
2. CSA:  

a. Is a replacement for Safe Stat 
b. Is a means of scoring driver and carrier safety-related events during roadside inspections 

and crashes 
c. Has a scored database for both the carrier and driver. 
d. All the above 

 
3. Only those violations resulting in an out-of-service order are calculated into a BASIC Score. 

a. True 
b. False 

 
4. The driver’s score in the Driver’s Safety Measurement System (DSMS) adds points to his or her 

license. 
a. True 
b. False 

 
5. All violations occurring at a roadside inspection are: 

a. Are categorized into one of the six BASICs 
b. Given a severity weight in relation to crash causation 
c. Time weighted 
d. All of the above  
 

Answers: 1b, 2d, 3b, 4b, 5d   
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